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(1) P(1Z] <1)
(2) P(Z <1.25)
Lk
(1) P(1Z|<1)=P(-1<Z<1)=P(-1<Z<0)+PO0< Z<1)
=2P(0<Z<1)=2-0.3413 = 0.6826
(2) HEUETERI S A5 DIEFME D
P(Z <1.25) =05+ P(0 < Z < 1.25) = 0.5 + 0.3944 = 0.8944.
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PX>T)=P(Z>1)=05-P0<Z<1)=0.5—0.3413 = 0.1587.

MR X IR E A N(0,1) 1685 25 5.
(1) P(X >a)=0.05 725 a 2K £.
(2) P(|X|>a)=0.05 £72% a ZKD XK.
fige]:
(1) 0.05=P(X >a)=05—-P0< X <a) &0 P(X <a) =045 &7%5. fEEEEHL
SAADEERN S, a = 1.645 BEH5N 5.
(2) 0.05=P(|X|>a)=2P(X >a)=1-2P(0< X <a) &V P(0< X <a)=0475
L. BEERSAORERD?S, a =196 BEo5N5.
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;X ~ N(70,102) 0, Z = 2~ v 5¢ e, 7~ N(0,1) TH5. DL X,
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P(X >80)=P(Z>1)=0.5—0.3413 = 0.1587.

L7253 T, BifiEnY 80 s LD EEIZRARD 15.8T% TH 5.

(2) JAEDY 60 sEA L 70 BN R DA IZ 2RO % fsb 5 h ke &.
[f#): AiORMEE FFRIZERET 22, P(60< X <70)=P(-1<Z<0)=0.3413. L
72h3 o T, A 60 JBA L T0 KBA T DZEEFRIKD 34.13% TH 5.

(3) il EA 5 % 12E E N5 72D, Ml Sl BT,
[f#]: P(Z>a)=0.05 %% a 2RkDb. ZOLE P(0<Z<a)=045 £V,
ERD? S a=1.645 LRDOSNE. ZDLE X =102+ 70 £ Y, 10a + 70 = 86.45.
U7h¥ > T 86.45 A ETHE BAL 5% 1A 5.
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